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1 BH 88X et 38 36 74
2 FE = fnfE™ 38 37 75
3 HEHY HE— FEM 41 36 77
A% 2 FEH 39 39 78
5;IB8 =i EiEH 40 39 79
6 /NE &3k W HH 40 39 79
THA &R BT 38 42 80
8 R F)X fafE™ 38 42 80
9 k¥ = FEM 43 38 81
10 Hh BRZER FRARD 41 40 81
11 B AX etigii] 41 40 81
12 {RE& 1EF| AR 40 4 81
13 Rk IEE WP 39 42 81
14 E5H B ES 25 o] 4 4 82
158 Bz FEM 4 4 82
16 7"4R 1E1E /N =] 42 M 83
17/1hE R BEEHH 42 M 83
185 2= ™ 41 43 84
19hE FZ ™ 37 47 84
20 HE %R =ikl 45 40 85
21 B8 %A FEM 4 41 85
22 IBAR HEX BHM 42 43 85
23 & 7 gt adinl 45 41 86
24 thft 50 FEM 41 45 86
25 P EE =kl 41 45 86
26 % & ES 2 E o] 42 45 87
27 tHE FIk o™ 45 43 88
28 $5K HE Ea™ 44 44 88
29 Z4 A EXk WP 41 47 88
30 & f&— £ Gl 45 44 89
31 {kfE F1T MR 44 45 89
32 /ME A etii] 43 46 89
33 FEF X FEH 46 44 90
34 A BHME XKET 46 44 90
3/ FEE —= HAE™ 44 46 90
36 FH & mlR™ 42 48 90
37 Rk TF MR 48 43 91
38 B JE— etii] 44 47 91
9 HhE BX FEM 49 43 92
40 KA = etii] 47 45 92
M =ZE RB INFHR™ 45 47 92
2 F8 XE FEH 46 47 93
43 *E A e 45 48 93
44 $5K HE Rt 45 52 97
45 IR Hz FEH 49 49 98
46 Kk =B am 50 49 99
47 BB Ko mHH 57 48 105
48 N & mR™ 56 51 107
ZIE R #158 AL 0 O 0
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